12.Solve: a2+ 13a =

=_42
rerz +92

o +|34+92 =90
(6+€D(a+D=2

c=9 4="
rrs

7
Solve each equation. Check the solutions(?w 4+ Sx?w —'S) @

13. Factor- 49w?2 -2

d\'l_L"-' = (a +v)(a-

14.Solve: —6(3n—-2)=4(-3-2n)

14.




15. Solve: 4y? + 16y + 7 = (6y% + 5y)— (2y* + 15) 15.

16.

16. Factor completely: 8n% — 481 + 40 HINT: GCF first!

B oy ey 2
+/6y+/7 = “f +Svy -S>

_..IS‘
__45% i’

_ __7,’L v il
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> O = Q«-?)@-&—‘g\

. A X ot 24 -3=0O
v = *>3 3 L=3Z

18. BASEBALL Tonisha hit a baseball into the air with an initial upwara 7\ ~
velocity of 48 feet per second. The height / in feet of the ball above the&f = .} /

ground can be modeled by 1= —16t% + 48t + 2, where ¢ is the time in == —
seconds after Tonisha hit the baseball. Find the time it takes the ball to < <

reach 38 feet above the ground. - < ) q & +-Z
T de cart o 168

(% dTE + 2
gy =16t +9¥ -3
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-

- (W""‘):zw (Y +163 O

242w =227 - 16\ T3Q
WA__’Q_N-ZZ"! O (4 *

19. The product of two consecutive even integersis 224_Find their sum.

Y= |’ =
20.The length ofa rectang]e is three times the width. The area is 64 square

o) 3x (3 >( r 3
2 b




17.1f the area of a square is multiplied by four, the area becomes 25 square
inches. Find the length x of a side of the square.



